[image: image1.jpg]2009 FRAGEFRIAESEE —Fit
B % oot

LERPAEEEEF ENNENGE FERS LEY.
2ERREP, wna REMaBEY, cota Zrfla HRY

—. I AXBR 17 AE SIS 5. R85 9. EEMRSHRNNERS,
RA-FRFAHRERN , RFARNNFIRREEEFASEIHNE

#x
) TRM={r2.3)0 N={13.5). MMON=
w e ® .31
@ {s) ) {1.2.3.5}

() E%y=sin x+ cos X IPRAMY

@ ® 2 © 3 ) 2

P UEEL Wat> b MRS LEREL

W el B aob © a<h D urch
(4) WO = ax RSB Y

@ x=4 ® =2 © xest D) xmcd
(5) FHLX -1>0 IMRSH

@ {eesl) ® fihe<t]

(© {exe-1x>1} ©) [d-1<x<f
6) HPC, 0-3,2), WPYHQ

(A) %F WM (B) *F -#u

(C) RTHAy=x & (D) XFHAy=-x 305

) BB ORULEI 0, ) P 0 vera =T, Wa=

w -2 @)1 « 7



[image: image2.jpg]® EAARD. BEEZMHATRERNTALN Y
@6 ®) 20 ) 120 D) 720

©) mBo<o<l,
3

s ewi < init B) cosfctnd
(€ on<cosd (D) sinB<1an 0
(0) FHEMP, EIGE UL HRERNE
) y=x| @® © y=x D y=x
(1) AABCH. AB=3. B=e0". BC=2. RIAC
(ISR ® Jio © 4 ) Vis
€12) ST401.2) BEHR sy 320 474145
A) 2x4y- ®
(C) 2evy-a=0 'y

a3) FELHGE

@ L-Loy
3
D) ¥ =2x
FoyaaGRfery-2-040, Ma
s @2 © i @1
08) Ra>b>1, W
(A) 03503 (B) ¥<3
(C) log,a<log,b (D) log,a> 105
(16) XATR. GRaPAFEHMENL09. W BPEH 2 RETHENMEY
aoose B ost @ os D 00081
an @sy=-L nAre

W R
«©

—%R
asm




[image: image3.jpg]OFTE SAERAME GMEAS. R 165 RERSESEFASESE.

(%) PMa. bEMEL Lial=1. Wadarb=___

(19) B fxre -5+ x o) VRAMEH___

(200 MERREDHBBR 6 B KW
25,20 WIHEREA___. (hi310D

(21 ZRER S0 = 2w 3 BRHEEE S x =1, Was___

R 5 19, 23018 16,

MEE: AXHR4ME, X495 REESHED. ANSR, FRASETH
FHEESE.

20) CRANERS 125

R MEM=
1) R dmfiic
) LRGN K I

CECER RSS2 ENd

1 d 5 LML 102 T

() GRS 28
HBR S =x -20 +3
1) R e ¥ =20 ¢ 3EAC . INRMUA T
U KR f00) 190 I,

20 RIS 129)

EL LD acds,

KA ABC MERL (RERF 001)

25) CRINGERS 139

wha-2

). 2,084

RUFEAN v = 2x
1) KRN
U KRR,




[image: image4.jpg]2009 FEREAEH

LS N

¥ Cohmsk) RESEERNTSSE

o
1. AR | R LRI AW AR
JHUGIATSHY £ % 8 S LEHE 56 M RIS
PR, AN G IR RGO B KA RS
BORTERENT, o R R A0 (AL AN
¥ AR5 OO A8 IR LA
3 WBGAREAR, R4t TREHE SRR %
3 BEGRON BIFERNEE AL
—. RIS GIESH. RS
(OB (DD (HA (HC (HC ®B (DB ®B
@D ANC DA (DC UDA AHB (9D 16 A
ano

Z.REE: GBS K165
aoroa9 - 20 92 @ -1

WEE: 99
W (D) e TR = e S KA
ad. a. avd JUEa0.d>0

Blardy =
asad.
LR IH A5

(a=di -

d

s Lusiiids

M SR 3
Xd=1 et
I L3 T | 20 2 MBI
423000
Se(r-n =102,
=100,
100 5 102
(23 #: (1) f0=a¢ -3c.
ro-2.
NN -1

a(x-2). H24x-y-37=0




[image: image5.jpg]A 2 r@=0, e
Re-l %=0, x=l
3 S MBS &

10 0| @) [ 1] (1)

@] - o + Jo| - To| +
& ~ J2] 2 [3l~ [2] -

S B BRE LD (-1,0). (1, +%0). BERK D (-2, -1 0.1
2%

(24) W dhiESRER T
5 an

A me
22
ABxsinds® )
BC= f-1). il
Joe2 -1 o
0

'
“LaaBons
3B -px2

=3-%

<2 e 25
Q5) # (1) RRMEMERIH 20. WHED 20, W
@ ebiea.

S

B oankadl

ABAHEY T

D) Eoke=





PAGE  
5

